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% +18V \%
()] Vi +36 \V;
2) Vin V-0.3~V+36 \
Vo V-0.3~V'+0.3 \Y
SOP : 690( 3) 1000( 4)
Po TVSP : TBD mw
Topr -40~+125 °C
Tstg -65~+150 °C
( 1) +INPUT AINPUT
(2 A
( 3) EIA/JJEDEC 76.2x1143x16mm 2  FR4
( 4 EIA/JJEDEC 76.2x114.3x16mm 4  FR4
= (Ta=25°C)
% +2 - +18 %
= ,V'N'=£15V, Ta=25°C )
Vo Rs<10kQ - 0.3 3 mv
lio - 5 200 nA
I - 100 500 nA
Rn - 05 - MQ
Ay R22kQ,Vo=+10V 90 10 - dB
Vou | R=2kQ +12 +135 - \Y;
Viem +12 +135 - \
CMR | Rss10kQ 80 110 - dB
SVR | Rss10kQ 80 110 - dB
|CC - 6 9 mA
SR R >2kQ - 5 - Vlus
GBP | f=10kHz - 15 - MHz
THD | Av=20dB,\Vo=5V,R.=2kQ,f=1kHz - 0.0005 - %
en f=1kHz - 5 - nV/iHz

MBI ER

Ver.02



NJM8080

-
=

S8

S,

=

=

115V, Gv=40dB, R, =2kQ, Ta=25°C

=
=

100M

10M

I

100k

Vom T

open

1™
[Hz]
15V, Gv

=4

A%

+

\'

[

10k
[Ql

Ta=125°C

FoA I e

[Vrms]

0.1

85°C

20Hz
f=1kHz

f=

T R A

\\7

25°C -
1k

100k

VIV

QR D
L _ 1 Ta=-40°C . |_ _ |

\NEE

A = = A
f—f—t—t—+

y 4
P4
y A
y 4

THD+N

V*'IV'=$2V, G,=20dB, R, =2kQ, Ta=25°C

-

\ X f=20kHz

[6op]
(=] [=] [=]
o o & Wb ®©
© [=2] ~ -~ -
o ; . . .
_.Ow. 7=
= —

wn ol

o -

sto ]

- \

W, | —T \\\\
-0 \\l v —
Qo 7 J 7
(=] V4 7z 7
2 [ 7
i, = \\

%) y 4 [
A/ A
H= =u =
w g —
- o -8
(=] (] n
© © - o
/ © oo
[l | ¢ i
;i s
Q
£ \\ @
©
o T
=) o o o =) =}
< N o bl @
[ap]
[Bop]
o (=] [=]
o & 1 ®©
? v 5 %

10k
15

-15
100

[%] N+aH1

0.01

0.01

:

100M

\

\

10M

55::;:..\‘\‘ \
\\\\ \

L

[Hz]

100

10

f=20Hz T

T~

[mA]

f=20kHz

=1kHz
[Vrms]

f

™

V' IV=£15V

Ta=125°C

+15V, Gv=40dB, R,=2kQ, C,=10pF

25°C

100k

VIV

Ta

Gain

10

115V, Gy=20dB, R,=2kQ, Ta=25°C

THD+N vs.
VIV

10k

-20
-30
-40

0.1

0.01

[%] N+aH1

0.001

0.1

0.0001

MBI ER

Ver.02



NJM8080

Vorp [VPP]

[mv]

w
o

N
[3,]

N
o

-
(3]

-
o

-1

-2

V*'IV'=£15V, R =2kQ, Ta=25°C

V'IV'=%15V, Gy=40dB, R;=2kQ, Ta=25°C

30
— 25
N
I
Z
E 20
\ 15 \\
\ 10 \\
\ \\..
N
\\ 5 .\‘n
N
0
1k 10k 100k 1™ 10M 1 10 100 1k 10k 100k
[Hz] [Hz]
R, =open R, =open
| 8
Ta=-40°C 7
Ta=25°C V' IV=£18V
6 Y
S V' IV=£15V
I e - “\k
= =
1 % 4 ~
‘\ ey
;’/"' / f VIV=t2v .
Ta=85°C / 3 =
Ta=125°C
2
1
0
0 *2 +4 6 +8 +10 *12 %14 +16 *18 50 25 0 25 50 75 100 125 150
VIV [V] [°C]
3
o
L Iy
%8
V'IV'=£2V 2 ::5'-
V V=215V = ﬂ " Ta=25°C Ta=-40°C
S 7 B £ N\
/ T TR
3== [ BRI _:.' \
" f 0 @ Ta=85°C v
V' IV=318V Ta=125°C
-1
-2
50 25 0 25 50 75 100 125 150 0 #2 +4 6 +8 +10 *12 %14 *16 *18
[°c] VIV [V]

MBI ER

Ver.02



\

NJM8080

V' IV=£15V

[mV]
N

Ta=85°C

N
Al
b

4

0 / [

Ta=125°C

A

i J S

vl

Vien=0V

200 / K
150 /- y

100 V' IV'=£18V *

50

50 25 0 25 50 75
[°cl

100 125 150

V*IV'=£15V, Vey=-12.2V~12.2V

120

115

— 110

[dB

105

100

95

90

85

80
50 25 0 25 50 75
[°c

100 125 150

Ver.02

[mV]
N

[dB]

[dB]

V' IV=-£2V

o

Ta=-40°C /

Ta=25°C \
Ta=125°C

4

-2.0

15 10 05 0 05 1.0

1.5 2.0
vl

V*IV'=£15V, R, =2kQ to GND

120

115

110 |

100

95

90

85

80
-50

-25

0 25 50 75 100 125 150

[°Cl

V'IV'=£9V—>#18V

120

115

110

105

100 =

95

90

85

80
-50

MBI ER

-25

0 25 50 75 100 125 150

[°Cl




NJM8080

v

18
15
12

[0.5V/div]

Gv=open, R =2kQ, R, to GND

R.=2kQ to GND

= 18

b..J

V' IV'=£18V

vl

/’ *+Vou— 12

e bbb VAVA VA A ias Sl il il M L -
i -6

25 0 25

V' IV=£15V,

50 75 100 125 150 2
[°c

R =2kQ, Ta=25°C

Vin
A
l _ _C=10pF| —1 i D
4

C =330pF

I |

/ N~ C_=680pF

,,,,,,,,,,,1,,,,

Time [1ps/div]

+8

+#10 #12 #14 +16 #18
VIV [V]

MBI ER

Ver.02



NJM8080

L
SOPS 4.9+0.3
HHA R
) 2 @
H H H u UNIT:
1.27
Ej
e |
‘J» 0.1 3
o
TVSP8

0~10°

2.8+0.1
4.0+0.2

0.5520.1

I " )

+0.05
- 0.127-0.03

0.475+0.1

1.0MAX

0.120.05 ||

0.2:0.05 {5 05 M)
U

B E S

Ver.02 -




